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4. Find the area of the region enclosed by y* =4x and y =2x-4.
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5. Find the area of the region enclosed by y* = x+2 and y = x.
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6. Find a vertical line x =k that divides the area enclosed by x= \/_ x=2and y=0into 2

equal parts.
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Homework 03-14

V)

2 2
@__((@“H\, - X)dx = f&'ﬁl)dx - Y xdx
-\ o 2 1 a o L )
o] - 5°] = (30)a)- (5T (36r) - 56
- - 133- .L."L / ) -..L\

S \’" >7 g
3. . -3 _ ;7

M\é@g_p‘rs ;3'11-3'(\3’\%0
= f’ %”TL?' (JIL‘iga Mas
X&"X q;A% - Yo = - H,J;{;
KX =0
¥ [x? =0
=0 | x=1
geb ‘J' 2
P M by?
B 1 V- M= 3¢ - S e oy
=AX
(R 0 Ddé«{‘u:d{,y 0)(?4,,;.
IC > 2 In2 6
ale AR 2 | dedele g
\/ DY D D 10 i S )




6) - X-U 3%, g=0  x=0 ,x=3 B % L Bk
~ xQx".qxw) J J | :
Y (X -1)X-3)
U N ’, %.
[ g /4~ -9 =0)dx e Y 0= (45 +3x) dx
[ o Sine { !

e Mz = 3083




